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o2 23 o] JAZE ABC 9 HAIH A 7FH BC 919 H E 9
QT = Hlth BD = 8m , BE = 5cm , EC = 10cm ¥ o], AF 2]
71o]l—_f)
= .

/
8cm
1

|
B = —(C
5cm’E~~10cm -

35
@ 8cm @ Zcm ® 7cm
25
@ Zcm ® 6cm

B ~

(A =/B=/C = /DEF =60°

/BDE = /CEF
ABDE & ACEF (AA ®-2)

BD:CE=8:10=4:5

AABC 7} BA4Fz+gol2 &2 AB = BC = CA ©o]1, gt ¥He] Ao
= 15cm ©|t}.

webd, AD =DE =7cm ,4:5=7: EF

.~ﬁ:ﬁ:§cm




6. o2 283 o] FArZEE ABCD oA EHAH B 7FAD 9ol 2=
AAS W, x o] 3F& Fotoet,

vV Vv
0x
L

15

~&B

(AB'E + /AEB’ = 90°, /AB’E + (DB'C = 90° °]|B &
(AEB’ = /DB’'C

w2tA AAB'E 2} ADCB’ ol 4]

/A = /D =90°, /AEB’ = /DB'Co|E2

AAB'E ADCB’ (AA H)

AB' :DC=3:9=4:(x-3)

36 =3(x—3) Lx=15




7. s 2™IM BC//DE 4 W, x+y 9] gh2?

_-bcm- _

@ 12cm @ 15cm ® 18cm ®)21 cm ® 24cm

B

4:8=6:y 0|22 y=12(cm)
CA:CE=BA:BDO9JE28:12=6:x
x=9(cm)

“ x+y=21(cm)




8. TS ¥ 7 AABCOA x, y ol FHol
tfsto] y — x 9] k& Fotof k.

> = cm
> g ?c_m

~&B ~

BC//DE°]|EZ AADE ¢ AEFC(AAR-2)
AE:DE=EC:FCOlE&26:4=15:x
* x=10(cm)

T, oDBFEE BH3dAHE 0|22 BD = EF =y, AD : AE =
EF :ECO|EZ (20-y):6=y:15
100

= (cm)

Ly=




Th 13} o] Al ofgf] 7HA o] A5
Al 7He] M| ol vt 7 11 ME =
91 FG 2] Zo]7} 60cm 22 & uff, AC, DE
o] dol& Hsfoiet.

>
>
[> &g AC =20cm
>

HE: DE =40cm

ABGF ©f|4 BC = CE = EG, AC//DE//FG °|E=2 AC :
FG=1:3=AC:60

wakA] AC = 20(cm) ©]t}.

I3 DE: FG =2:3 = DE : 60 @2tA DE = 40(cm) ©]t}.
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the 1904 BC//DE 4 ®, xy ] 3127

72 73 74
@Dy oy o3

~&B

BH//DGOJEZ8 : x=(3+2):2
5x =16

16
=5
HC//GE°|B23 : 2=y : 3
2y =9

9

=3

L1607

' 5 2 5
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204 AE : EB = AP : PC = DF : FC &
8 uf, LAPF + (EPC 9] 377

@ 260 ° @ 261° @2620
@ 263° (G 264°

~&B

EP // BC ©|2& /APE = /ACB = 33°
(EPC = 180° - 33° = 147°
AD // PF ©]2& /FPC = /DAC = 55°
(APF =180°-65° = 115°
- LEPC + /APF = 147° + 115° = 262°
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12. AZME 0-ABC o4 APQR & Z§sHE ¥ AABC & ZgsHE=
gHo] A= By, x4y o gk Foteiet

PQ //AB ©°]E2 2 AOPQ aAOAB (AA T 2) o],
OP: OA =PQ: AB ¢ Z-& H|g|4]o] A7},
3:8=2: x92=2 3x=16,
16
whebA] x = 3 ©l gt
PR //AC °o|22 AOPR © AOAC (AA E-2)0],
OP: PA=0R: RC ¢} &2 H]|g|4]o] 7},

10
3:5=2:y°B23y=10,y=— ° Arh.

3
1Tt

it

16 10 26
X =242 -2
ohEbA x +y 3+3 3




® AB//EF @)Bc//oF
® AC//DE @ ACAB ACFE

® ABAC ©ABDE

~&B

@8 :
@9 :
®6 :
@8 :
®6 :

12+ 9 :9°]2& AB//EF + 27 ¢t} (x)
=12 :8 °]2& DF//BC °]t}. (O)

9#£9 :9°]22 AC//DE & 24 &t} (x)

12#9 :9 0|2 o] ofr}. (x)

9+9 :9°]B7 g-go] ot} (x)




14. thg 1e)4 BC//DEY 1, x+
¥l 2He atole

> =
> g %cm

B \
BC//DE°]2& AADP 0 AABQ(AARS)
AD: AB=DP:BQo|E&
9:9+x=45:55=9:11
v x=2

BC : DEC|2 2 AADE @ AABC(AARS)
AD : DB = AE : ECo|E2

9:2=y:15
27
Y=

35
Lxty= Z(Cm)




~6cm”E ~5em”

@)pr//BC @ DF =2 ol

® AC//DE @ACAB OAFAD
® ABAC ©0ABDE

B

@O AABC °| AD: DB =AF: FC =3:29°]22 DF//BC
ot}

- — 33
@6:10=DF: 11 OIEEDF:€°]E}.

@ (A 7} 35, /ABC = /ADF (597Z)o|E2E ACAB
OAFAD (AA &2)o|tt.




16. th2 139 AABC A BC // DE °|X, A
PE = GCm,m = 5cm,@ = 10cm 4 9,

AD : DB &7
D,

P| 6emr
D 1:2 @3:5 @3;2 ./ L

5emrQ™~10em-"
@ 3:4 ®2:1

BC // DE o|B&2
@:ﬁzA_Q:ﬁ:E:E:5:3
AD:DB=3:2




17. & 189 AABC 94 BC / DE & o,
DQ 9] do|& Fatodzt,

AQ:AP=AE:AC=20:12=5:3
AQ:AP=DQ:BP
5:3=DQ:4

— — 2
3DQ = 20,DQ = gocm




thea 22 AABC 914 PQ // BCEH & ,
AQ © Zol&?

@D 12 @ 11 @10
@ 9 ® 8

AB: AP =AC:AQ
12:8=15:x
x =10
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th2 199 nABCD o4 AD//EF//BC, AE : EB = 2 : 3 ©]1,
AD = 6cm , BC = 15em ¢ o, PQ ] ZoJ&?

12 1 24
@) gcm @ ggcm ©) Ecm
@ —cm ® 6cm

AABC oA AABCOAAEQ ©|E2 EQ:15=2:5, EQ =
6(cm)
AABD ©|A] AABDAEBP ©|E2 EP : 6 =3:5, EP =
1
;(cm)

- 1 12
PQ:EQ—EP:6—€8:g(cm)




20. AD//BC 2 Alttg]E ABCD ©f|A AOAD = 15cm? & o}, AODC
o] \lo]& F5tH?

_-10cm~ _

A D

~<l4cm--"

@ 7cm? @ 10cm? @ 1l4cm?

@ 20cm? ®)21cm?

B ~
AODA 0 AOBC ©| 22
AO:0OC=AD:BC=10:14=5:7

wt2bA AOAD : AODC =5: 7

- AODC = 21cm?




21. & 1A AD //EF //BC ©|1 AD = 8, BC = 249 1, BF ]
2ol =7( EF £ AC9} BD 9] @< )it

=
Q

@D 6 @ 8 3 10 @12 ® 16

Q

¢} DB ¢ 8-S G 2 skt
AG:GC=8:24=1:30]22
E:%xmzﬁ,@:gxszﬁolc}.

wHakA] EF = 12 ©]t}.
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22. th& 1Y} Zol ArtElEe] £ izt w4 0 & 4
Wy 2 40| Altkel 23t Bk S 247} b, Q 2 @
Zo]=? (&, AD = 3cm, BC = 4cm )

B ~ -~ C
“~4cm--
8 10 12
@ ?:m @ Ecm @ 7cm
@ 7cm ® 7(:111

AP : AB =PO : BC °o|t}.
AP:AB=3:70|E&
3:7=P0O:4

webH PO = 1—72(0m) olct.




23. t& 1¥l4 AD//PQ//BC 4 ®, PQ ©] Zol&?

~-10-~_

KA
p Q

® 105 @ 11 @12 @ 125 ® 13

B

AC ¢} BD 9] w3& Rt oHH
E:ﬁz?:&ﬁ:ﬁ:ﬁ{:molﬂik5:ﬁ{:15
PR=6

%G AP: AB=PR:BC =DQ:DC =RQ:BCo|E&
RQ=PR =6

~PQ=12




24. The 193} o] AD//EF//BC ¢ AHelE ABCD o4 AE : EB =
2:1 ¢ o, MN ¢] Zo]=?

_-l6em-
B¢ —C
~=20cm- "~

@8cm @ 9cm @ 10cm @ 1lcm ® 12cm

B ~
1) aABEM, aBAD 9|4 /B = 5%, /BEM = /BAD
wtA] ABEM @2 ABAD (AA §+)
HSHZEM:AD=BE:BASEM:16=1:3
BN = Lem
ii) AAEN, AABC 9|4 /A & &%, /AEN = /ABC
w2hA AAEN 00 AABC (AA & E,)

SeHZ2 AE: AB=EN:BC©2:3=EN:20




